AL MOATTASSEM INTERNATIONAL SCHOOL - JUBAIL
Level 7 Mathematics ch 10 -Pythagoras Theorem

Second Term - Revision 2 - Questions

Solve the following:

Q1) Find the value of the unknown in each of the following right-
angled triangles.

ii)
acm
20cm d cm

23 cm
21cm 29 cm

Solution: Solution:

Using Pythagoras’ Theorem, Using Pythagoras” Theorem,

2 _ A2 4 112 d* =23 +29°
a =20"+21 500 4 841
=841 .. d = /1370 (since d > 0)
a = 841 (since a > 0) =370 cm

=29 m
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Q2) Find the value of the unknowns in each of the following right-

angled triangles.

i) i) 14 m
15m
39m bm
19m
Solution:
Using Pythagoras™ Theorem,
Tsine 7 onT ’ L 2 ) 7
[%,95311b l::}ﬂ]abjjlﬂs Theorem, 19? = b2 4+ 142
e b =197 14
e liﬁ =361 - 196
- i;l T = 165
= 1296
oD = 4163 (since b>0)
coa= 1296 (since a > 0) {
=128 cm

= 3f cm
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Q3) InA ABC AB=8cm, BC = 15cm and 4B =90°. Find the length of

AC.

In AABC, # B =90°.
Using Pythagoras™ Theorem,
AC* = AB* + BC°
=8 +15°
=64 + 225
=289
s AC = /289 (since AC > 0)

=17 cm

Q4) Each side of a square field is 50m long. A barricade is to be
placed along the diagonal of the field. Find the length of the
barricade.

Let the length of the barricade be x m.
Using Pythagoras’™ Theorem,

© =50%+ 50 " om
= 2500 + 2500
= 5000
50m

S X = 4/5000 (since x=0)
=70.7 (to 3sf)
The length of the barricade 1s 70.7 m.
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Q5) Determine if each of the following triangles is a right- angled
triangle. For each right-angled triangle, state the right angle.

a) /. ABC, given that AB=12cm, BC=10cm and AC = 8cm
b)Z\ PQR, given that PQ=34m, QR = 16m and PR = 30m

(a) AB 1s the longest side of AABC.
AB* =12°
=144
BC°+AC°=10"+8°
=100 + 64
=164

Since AB® = BC” + AC*, AABC is not a right-angled triangle.
(b) PQ 1s the longest side of APQOR.

PQ* =342
- 1156
OR’ + PR* = 16>+ 30°
~ 256 + 900
= 1156

Since PQ° = QR” + PR’, APQR is a right-angled triangle
where R =90°,
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Q6) In /A PQR, PQ=19cm, QR=24cm and PR=30cm. Show that ~. PQR

is not a right-angled triangle.

Solution:

PR 1s the longest side 1s APQR.

PR* = 30’
= 900
PO + OR* =197 4+ 24°
=361 + 576
— 0937

Since PR® # PQ” + OR®, APQR is not a right-angled triangle.



